MLE
MCE
MDE

RMSE

Cv



48

f (RMSE) RMSE

fi=1,2,a =0.5 (CV=53%) ,
[z=l,cr=I (CV=131%)  fi=l,cr=2 (CV=732%)
41 -44 41-44

41
=100 d=05110 20 MLE RMSE

=\<7=051  [fi=2,cr=0.5 fi=1<T=2  MDE RMSE [
II71, -=2

MDE
RMSE
=100 d=30 MLE RMSE 1=12<7=05
/I=1,0-=12  MDE RMSE
=100 @ (X (Cv ) RMSE
d d RMSE . MCE
lI=1, -=2 RMSE MCE
RMSE d
4.2
=200 d=05 MLE RMSE II=1,0-=0.5,1,2
fi=2,cr=Q.5
=200 d=1020 30 MLE RMSE

fi=l,cr=051  fl1=2,(7=0.5 1=10=2 MDE RMSE
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=20 /i C (V. ) RMSE
d d RMSE MCE
fi=l,a-2  RMSE
43
=300 d=05 10 MLE RMSE II=1,
J=0512  fl=2,a 05
=00 d=20 30 MLE RMSE fi=|,
(7051  fl=20-=05  fl=\,(7=2  MDE RMSE
=30 fl CT (V) RWMSE
d d RMSE MCE
fi=1,7=2 RMSE
44
=500 d=0510 20 MLE RMSE
[i=1,0=0512  [i=2,6=0.5
5000 =30 MLE RMSE II=1a 051
I=2,0-=05  /i=1,0=2 MDE RMSE ~ (
500 ; 0  (CV ) RMSE
d d RMSE MCE
=\0=1 RMSE
41-44 RMSE
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0.5

0.5

100

cv

5%

5%

131%

732%

05
10
20
30
0.5
10
20
30
05
10
20
30
05
10
20
30

MLE
0.04827
0.04775
0.04899
0.05762
0.04983
0.05597
0.10513
0.17553
0.17444
020278
0.28538
040075
0.70168
0.83640
1.01089
1.15162

(RAISE)

RMSE

MCE  MDE
005550  0.23048
005320  0.18897
005523 0.09980
006907  0.11059
005972  0.11616
006435 0.14227
024909  0.85%6
033563 0.23047
04417 024523
054860  0.28957
063147 032294
067426 036417
15053 057221
155507 065563
148091 079903
1477126 091642
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4.2

200

cr

05

0.5

cv

53%

5%

131%

132%

05
10
20
30
05
10
20
30
05
10
20
30
05
10
20
30

MLE
0.03178
0.03271
0.03317
0.04123
0.03176
0.03667
0.07174
0.10634
0.12466
0.15566
0.21159
029211
0.52505
0.66250
0.82155
0.93591

fl

(RMSE)

RMSE

MCE  MDE
003421 00352
003421 0.03550
003507 0.03435
004450 0.04483
00349 003745
004055 0,039
010643  0.0024
027186  0.11529
01997  0.15668
023524 020110
046067 027673
058531  0.29903
143774 054553
148516 056148
12331 0.65504
117544 0.74904
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300

0.5

05

Cv

5%

5%

131%

132%

05
10
20
30
05
10
20
30
05
10
20
30
05
10
20
30

MLE
0.02646
0.02588
0.02739
0.03225
0.02681
0.02988
0.06807
0.09193
0.10119
013517
0.18807
0.26719
042934
0.53009
0.66482
0.77765

(RMSE)

RMSE

MCE  MDE
002828  0.02933
002702 0.02683
002898 003033
003450 003376
002818 002830
003212 003142
009500  0.08847
021749 00518
012157  0.11419
017624 016392
028548 023527
047360 027170
143781 050285
135504 053176
10621 061094
094058  0.643%
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500

0.5

0.5

5%

5%

131%

132%

0.5
10
2.0
30
0.5
10
2.0
30
0.5
10
2.0
30
0.5
10
2.0
30

MLE
0.02074
0.02074
0.02145
0.02449
0.02098
0.02350
0.05521
0.07858
0.06971
0.09839
0.14809
0.19463
0.34139
0.43420
0.52688
0.63511

fl

(RMSE)

RMSE

MCE  MDE
002168 0.0291
002168 0.0291
002236 002258
002608  0.02588
002154 0,02179
002498 0.02471
007751 0.07027
019253 0.08154
007752 007470
011446 010826
019008 017618
026882 023431
116223 047713
089532 051433
083846 053242

0.86169

0.58418

5
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RMSE

RMSE

0.25}
0.201
0.151
0.10

0.05 1

RMSE 3
(4=2,(7=05 (CV=53%)

d- 05

\
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N[ ==

0.00

0.05 1

100 200 300 500

E3SMLE ~ MCE 1 MDE

d- 10
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100 200 300 500

MLE MCE [ MDE
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RMSE

0.121

0.101

0.081

0.061

0.04 1

0.021

0.00

RMSE

3
}1=1,<3=05 (CV=53%)

100 200 300 500
B MLE & MCE 13 MDE
d- 1.0
0.161
sl | 7]
0.121 :
0.101
0.081
0.061 §
| EEN
0.04 ;\}:
0.024 ENN
0.00 -\\\\'

100

MLE  §3 MCE

1 MDE
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0.501

0.40+

0.30

0.20

0.101

0.00

RMSE 3
M=1,G =l (CV=131%)

0.60}
0.50
0.40-
0.301
0.201

0.101

100 200 300 500

MLE ESMCE [ MDE

d- 1.0
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0.00

100 200 300 500

MLE MCE I MDE
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4.4

2.0

s\\\\

0

1.60

1.401

1.201

1.00
0.80+
0.60

ISIWY

0.401
0.20
0.00

500

300

200

100

BME SMCE 1 MDE

d=3.0

N
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1.601
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C=1,7=0.3 (CV=540%) 1
¢=0.1,7=1 (CV=100%) ¢ =0.17=15 (CV=67%) ¢ =0.1,7=2 (CV=52%)

45 - 48 45 -48
45
=100 d  MLE RMSE ¢=0.1,7
2115 2 ¢=17=03  MDE RMSE ¢=1,7203
MDE RMSE  {
00C 7 1 (CV ) RMSE
d d RMSE
46
=200 d MLE RMSE c=0.1,
=115 2 c=17203  MLE RMSE RMSE
MDE
=20C 7 (CV ) RMSE
d d RMSE
41
=300 d  MLE RMSE c=0.1,

7=1,152  0=1,7=03
"=300C 7 (V) RMSE
d d RMSE



0.1

4.5

0.3

15

100

540%

100%

67%

52%

0.5
10
20
3.0
05
10
2.0
3.0
0.5
10
20
30
05
10
20
30

MLE
0.60969
0.61298
0.64636
0.69526
0.10455
0.11446
0.12849
0.14799
0.12526
0.15473
0.19501
0.27068
0.15865
0.19588
0.30594
0.46760

(RMSE)

RMSE

MCE ~ MDE
081699 0.54746
088592 055307
093715  0.58962
081339 059413
011207 010677
012008  0.11480
013882 0.13401
016031  0.15937
012645 013031
0.15495  0.16808
020477 021076
030208  0.29326
015997 0.22379
021333 022731
036472 0.32499
060481 0.49700



0.1

4.6

200

0.3

15

0%

100%

6/%

5%

0.5
10
20
30
0.5
10
20
3.0
0.5
10
2.0
30
0.5
10
2.0
30

MLE
0.38655
0.39328
0.3949
0.39724
0.06450
0.07141
0.07981
0.08944
0.08385
0.09950
0.13126
0.17216
0.10325
0.12450
0.19662
0.28936

(RMSE)

RMSE

MCE  MDE
0.78363  0.38102
083510 040248
091718 0.40908
0.75649  0.40105
006782  0.06812
008485  0.07416
0.09654  0.08983
012288 0.10440
0.08532 0,098
010223 0.11353
016125 016721
028224 0.19037
010464 0.2230
012486 0.22036
030090  0.23833

0.57433

0.34227



0.1

4.1

300

0.3

15

cv

0%

100%

67%

52%

0.5
10
2.0
30
0.5
10
2.0
30
0.5
10
2.0
30
0.5
10
2.0
30

MLE
0.28492
0.29565
0.30501
0.30622
0.04733
0.05568
0.06285
0.07071
0.06588
0.07675
0.09894
012771
0.08025
0.10178
0.1479
0.20418

(RMSE)

RMSE

MCE  MDE
0.7505 033798
083352 0.38459
088124 039900
073102 039917
005040 005070
007141 005916
008544 007362
011000 0.09434
006588  0.09586
007791 0.09920
014758 012934
027091  0.15401
008093 021721
010592 0.21385
029052  0.23833
053443 0.27006
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0.1

4.8

0.3

15

500

cv

0%

100%

67%

5%

0.5
10
2.0
3.0
0.5
10
2.0
3.0
0.5
10
2.0
3.0
05
10
2.0
3.0

MLE
0.22684
0.24278
0.24874
0.25193
0.03591
0.04025
0.04637
0.05099
0.04754
0.05422
0.07321
0.10686
0.06253
0.07537
0.10402
0.17364

(RMSE)
RMSE
MCE  MDE

048883  0.32461
059706 0.36672
0.69452 039119
0.63450  0.39848
0.03782  0.03886
006148 004266
0.08361  0.05908
0.09899  0.08124
0.04889  0.09252
0.07409  0.09726
013535  0.10854
025765  0.11330
0.06473  0.21585
007855 017530
027185  0.14032
051962  0.26550

66



67

RMSE
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3
¢=0.1," =1 (CV=100%)

RIVISE

4.6

0.5
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0.101

0.08 1

0.061

HSIWY
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0.00

500

300

200
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4.1

RMSE 3
¢=0.1,T=15 (CV=67%)

RMSE

0.14+
0.121
0.101
0.08 1
0.061
0.04 1

0.021
0.00

100 200 300 500 »
n

BmeE NMmce EIMDE
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0.201

0.151
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47 (,
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RMSE ) 3
| €=0.1,T=2 (CV=52%)

13

RMSE

0.25 1
0.201
0.15 1

0.101

0.05 1

I

0.00

100 200 300 500
n

BME NSMce [IMDE

RMSE

0.251

0.20+

0.151

0.101

0.051

0.00
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MLE ~ MCE EDMDE
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14

RMSE

0.40+
0.351
0.301
0.251
0.201
0.151
0.10
0.051
0.00

200

300

B MLE

MCE MDE

500

RMSE

0.70+
0.60
0.50
0.401
0.301
0.201
0.101

0.00

200

300

B MLE

NMcE [IMDE

500




48
=500 ¢ MLE
71152  ¢=17=03
S0C 7 1 (Cv
d d RMSE
45 -48
i C 7
3

A=10a =4 (CV=141%) A= &=l (CV=118%)

49 -4.12 49 -412
49 ,
200 d=05  MCE
a=7  MDE RMSE
2100 d=1020 30 MCE
1=10,a 2254 7
201 a (cv
d d RMSE
4,10
=200 ¢ MCE
a=254 1

201 a (cv
d d RMSE

15

RMSE c=0.1,

) RMSE

RMSE

1210, =25 (CW=223%) ,

RMSE A=10a =254
RMSE
) RMSE
RMSE 1=10,
) RMSE



a =254

a=254

!

1

16

411

=300 d MCE RMSE 1=10,

3001 a (CV ) RMSE
d RMSE

4.12

=500 d MCE RMSE 1=10,

5001 a CV ) RMSE
d RMSE

49-412 RMSE
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4.9

2.5

4

:

100

223%

141%

118%

10
2.0
3.0

10
2.0
3.0
0.5
10
2.0
30

MLE
4.35020
5.14542
5.62715
5.17824
5.01085
5.33980
5.79544
5.90708
6.07789
6.07601
6.01114
1.36754

(RMSE)

RMSE

MCE  MDE
25345 309387
296503 368732
331166 382846
347052 4.20083
346741 376432
349288  3.97866
380485 413207
382245  4.35977
482337 4.79845
488376 4.95846
481793  5.23975
525519 6.05199

1
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4.10

2.5

4

:

223%

141%

118%

0.5
10
2.0
3.0
0.5
10
2.0
30
0.5
10
2.0
30

MLE
3.79068
4.04379
4.49464
4.82261
4.30249
451731
4.74664
5.28583
5.58580
5.86806
5.84956
6.81671

fl

RMSE
MCE
2.40600
2.62474
2.82304
2.93976
3.11376
3.26314
3.33593
3.50416
4.20377
4.26209
4.58589
499140

(RMSE)

MDE
2.82506
3.00832
3.17846
3.46564
3.52249
3.69460
3.98872
4.29628
4.69836
486722
5.19272
5.72802

18
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4.11

2.5

4

1

300

223%

141%

118%

0.5
10
20
3.0
0.5
10
20
30
0.5
10
2.0
3.0

MLE
3.03712
3.17491
3.45908
384712
3.81651
3.87368
4.20169
457057
492311
5.44626
5.66690
5.18475

fl

RMSE
MCE
2.26116
2.29583
2.46184
2.68985
2.966%
3.04593
3.30351
3.33968
3.98353
3.89988
444730
4.53089

(RMSE)

MDE
2.55358
2.65957
281147
3.16417
3.40180
3.52141
3.87065
405748
4.58466
4.82009
5.08319
519707



10

4.12

2.5

500

cv

223%

141%

118%

05
10
2.0
3.0
05
10
2.0
3.0
0.5
10
20
3.0

MLE
2.22139
2.29944
2.64614
2.12149
2.99324
3.16280
3.38489
3.68997
485818
5.37238
5.66255
5.74041

fl

RMSE
MCE
1.84252
1.84430
2.08383
2.13264
2.37044
2.53083
2.66089
2.85662
3.37653
3.78582
402177
4.19815

(RMSE)

MDE
2.13981
2.18012
243156
2.50800
2.82568
2.92652
3.16149
3.66512
4.33013
4.76362
415072
5.19644
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RMSE 3
<x=2.5x=10 (CV=223%)
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RMSE

RMSE

RMSE 3
1 Ot=4,x=10 (CV=141%)
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RMSE

RMSE

RMSE 3
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